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- . Grey line: exponential fit Peak flux: 1.913+/- 0.024 c/s/cm’ u
N Black line: power law + gauss fit Fluence : 80.44+/- 1.99 c/cm?
I Dashed line: power law o ) ) —
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= Expon.time: 40.18+/- 0.97 s (chi*red= 6.60) J
= % 3
3 ﬂ | % + TR + E
= } T L T O N O L N 3
= LTINS A A e
ST R L A AR S AL TN R AR WL
SR Gy T AT g AT TR A T e Y
- N *H HH HﬂH Hﬂﬁ“ f ot M # W P M f m Y uﬂ | i H ' o
= H } | B
; Power law fit é
- Power law index: -1.171+/- 0.006 (chi*-red= 15.39) 3
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— Power law fit plus Gaussian (st.dev.= 58.44+/- 0.51 s, fracgs= 0.37+/- 0.01) =
= Power law index: -1.581+/- 0.037 (chi’-red= 5.54) 3
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